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OChristmas Addition and Subtraction

Solve the following word problems.

Santa has 5 candies. He gave 2 candies to Rudolph
and then found 3 more candies in his pocket. How
many candies does Santa have now?

Mrs. Claus baked 10 cookies. Santa ate 3 cookies
and then Mrs. Claus baked 3 more. How many
cookies are there now?

There were 7 presents under the Christmas tree.
Santa added 2 more presents and then took away
1 present. How many presents are under the tree
now?

There are 6 elves making toys. 2 elves leave to
wrap presents and then 3 more elves join to make
toys. How many elves are making toys now?

Rudolph found 5 ornaments on the ground. He
hung 2 ornaments on the tree and then found 3
more. How many ornaments does Rudolph have
now?

Santa had 6 candy canes. He ate 1 candy cane and
then found 4 more in his pocket. How many candy
canes does Santa have now?

7 Santd's sleigh had 8 reindeers. 2 reindeers went to
rest and then 1 more joined. How many reindeers

ire there now?
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